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Positive
	
Negative

	
Rise
	
Run

	
Vertical
	
Horizontal

	
Zero
	
Steepness

	
x
	
y

	
Undefined
	
Rate of Change
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Vocabulary Report	Name _ANSWER KEY 	

	Term
	Definition
	Example

	slope
	· a number that describes the steepness of a line
· "rise over run"
· rate of change
· "m" is the slope variable
· vertical change divided by horizontal change
· formula:  m y2 y1
x2 x1
	


positive slope


negative slope



zero slope


undefined slope

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	



GeoBoards	Name  	

For each of the following problems:
1) Draw the rise and run between given points.
2) Write the slope of the line.
3) Draw a line through the two points to each edge.
4) Circle another point on the line and draw rise/run.

A.	B.end
start
end
start














Rise:	Run:	Rise:	Run:   	 Slope:		Slope:   		

C. D.end
start
end
start















Rise:	Run:	Rise:	Run:   	 Slope:		Slope:   		 

5.) Order the lines above by steepness from least to greatest.		,	,	,  	


Slope Using a Multisensory Approach
10

6.) Write the slope of the lines in the order above.

 	,  	,  	,  	


7.) What do you notice about the list of slope values?

For each of the following problems:
1) Draw the rise and run between given points.
2) Write the slope of the line.
3) Draw a line through the two points to each edge.
4) Circle another point on the line and draw rise/run.

E.	F.start
end
end
start














Rise:	Run:	Rise:	Run:   	 Slope:		Slope:   		

G. H.start
end
start
end















Rise:	Run:	Rise:	Run:   	 Slope:		Slope:   		 

Slope Using a Multisensory Approach
37

GeoBoards	Name    ANSWER KEY 	

For each of the following problems:
1) Draw the rise and run between given points.
2) Write the slope of the line.
3) Draw a line through the two points to each edge.
4) Circle another point on the line and draw rise/run.

A.	B.end
start







end



start

Rise:   2	Run:    3	Rise:	3	1	 	

Slope:

2	Slope:
   3 	

3 3
1

C.	D.









start

end

end




start
Rise:   1	Run:    4	Rise:   4	3	 	

Slope:

1	Slope:	4

	
4	3

	


5.) Order the lines above by steepness from least to greatest.

C	, _A

, _D

, _B

				
6.)  Write the slope of the lines in the order above.	_ 1	_ 2	_ 4	3 	,	,	,

4	3	3
7.) What do you notice about the list of slope values? The line with the greatest steepness has the greatest slope. As the steepness of a line increases, the value of its slope increases.

GeoBoards	Name    ANSWER KEY 	

For each of the following problems:
1) Draw the rise and run between given points.
2) Write the slope of the line.
3) Draw a line through the two points to each edge.
4) Circle another point on the line and draw rise/run.

E.	F.start
end






end



start



Rise:   3	Run:    –2	Rise:   0	Run:    3 	

Slope:	3
2

Slope:	0

	
G. H.start
end









start


end








Rise:   –3	Run:    3	Rise:   1	Run:    –4 	

Slope:	–1	Slope:

1
 	4 	



GeoBoards	Name:  	
Exit Ticket

Directions: Determine the slope for each of the following lines. Show all work.

		

Slope =			Slope =			Slope =		Slope =    	









GeoBoards	Name:  	
Exit Ticket

Directions: Determine the slope for each of the following lines. Show all work.
 		

Slope =			Slope =			Slope =		Slope =    	

Name  	

Date  	



Extension: Slope Applications


Given the various buildings drawn below, determine the slope of each roof by using the slope formula or by graphing.
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G	B


C





D

E	 	
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A	B	C	D	E





Name  	

Date  	



Extension: Slope Applications


Given the various buildings drawn below, determine the slope of each roof by using the slope formula or by graphing.
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G	B


C





D

E	 	


!    !	!    !    !	!    !    !    !    !    !    !	!   !	!    !    !    !    !	!    !    !    !    !    !    !    !	!    !    !    !
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A  8/9

B -5/6

C	2/7

D	2/11

E 6/5

GeoBoards	Name: _ANSWER KEY 	
Exit Ticket

Directions: Determine the slope for each of the following lines. Show all work.

 		4
2
0
4
3
0


2 1	4

Slope =	4	2

Slope =    Undefined	Slope =	
3

Slope =    0 	

	

GeoBoards	Name:  	
Homework


For each of the following problems:
1) Using the start point and slope given, find the next point and circled it.
2) Draw a line through the two points.

A.	B.start
start


















5
Slope:
6


Slope:	3

	
C. D.
	start
start




Slope:
· 
1	Slope:	0
 	7 	



For each of the following problems:
1) Using the two points given on the line, draw the rise and run.
2) Label the rise and run values.
3) Determine the slope of the line.

E.	F.














Slope:	Slope:

	
G. H.

















Slope:	Slope:

	

GeoBoards	Name:    ANSWER KEY 	
Homework


For each of the following problems:
1) Using the start point and slope given, find the next point and circled it.
2) Draw a line through the two points.

A.	B.start
-3
1
6
5
start


















5
Slope:
6


Slope:	3

	
C. D.
	start
-1
7
5
0
start
(any point on this line)




Slope:
· 
1	Slope:	0
 	7 	



For each of the following problems:
1) Using the two points given on the line, draw the rise and run.
2) Label the rise and run values.
3) Determine the slope of the line.

E.	F.-6
3
1
4



















Slope:

6 2
    3 	


Slope:

4 4
1

G.	H.0
2

4



6











Slope:	0	Slope:

6 3

   4	2 	


Slopin’ It Up	Name:  	 Warm–Up

1. In your own words,
a) Write the definition for the slope of a line.










b) Describe how the slope of a line is calculated.










2. Determine the slope of each line.

	a)
	
[image: ]

	b)
	
[image: ]



1Slopin’ It Up	Name:	ANSWER KEY 	 Warm–Up

1. In your own words,
a) Write the definition for the slope of a line.



Answers will vary.






b) Describe how the slope of a line is calculated.



Answers will vary.






2. Determine the slope of each line.

	a)
	[image: ]                                 Slope = 2
3

	b)
	[image: ]                                 Slope = 4



Coordinate Grid Transparency

Teacher Directions: Copy this onto a transparency and place under the teacher GeoBoard on the overhead projector. Use this to show how "rise over run" determination of slope relates to an algebraic approach using coordinate values.


[image: ]

Four Corners Activity Slopes
































	








































	








Four Corners Activity Graphs

Directions: Laminate these pages for long–term use. Cut out each of the following graphs so that you have one for each student.

	A
	B

	
	

	C
	D

	
	







	E
	F

	
	

	G
	H

	
	







	I
	J

	
	

	K
	L

	
	







	M
	N

	
	

	P
	Q

	
	







	R
	S

	
	

	T
	U

	
	



Four Corners Activity	ANSWER KEY
Graphs

Directions: Laminate these pages for long–term use. Cut out each of the following graphs so that you have one for each student.

	A
	B

	
	

	Slope = m 5 9 14 2
1 6	7
	Slope = m 8 6 14  2
3 4	7

	C
	D

	
	

	Slope = m 1 6   5  1
2 8	10	2
	Slope = m 4 2 	6	1
4 8	12	2




	E
	F

	
	

	Slope = m 5 9 14 2
1 6	7
	Slope = m 3 7 10  2
3 2	5

	G
	H

	
	

	Slope = m 7 2 5  1
8 2	10	2
	Slope = m 4 1 5 1
2 8	10	2




	I
	J

	
	

	Slope = m 6 4 10 2
3 2	5
	Slope = m 6 8 14  2
3 4	7

	K
	L

	
	

	Slope = m 3 2 5  1
6 4	10	2
	Slope = m 4 4 	8	1
8 8	16	2




	M
	N

	
	

	Slope = m 5 7 12 2
5 1	6
	Slope = m 3 9 12 2
4 2	6

	P
	Q

	
	

	Slope = m 1 8   7  1
8 6	14	2
	Slope = m 7 2  	5	1
4 6	10	2




	R
	S

	
	

	Slope = m 8 4  12 2
8 2	6
	Slope = m 6 4 10  2
1 6	5

	T
	U

	
	

	Slope = m 	7 4	3 1
2 8	6	2
	Slope = m 9 4  	5	1
2 8	10	2



HOT SEAT
Teacher Instructions

Set Up:
	Copy the problem sheet so that there is one for each team.

	Cut the problem sheet into slips with one problem per slip.

	Copy the Hot Seat Activity handout, one for each student.

	Break the class into teams. Each team sits in a row, one behind the other, facing the overhead screen.

	Distribute the Hot Seat Activity handout to each student.

	Give a white board and marker to last student in each row.

Directions:
Y  The last student from each team comes up to teacher at front of the room and gets a slip of paper with the first problem on it.

Y  The student returns to seat and shares problem with other member of team.  (Each team member writes problem 1 in box 1 on Hot Sheet Activity handout.)

Y  All students work out problem without talking.  The last student writes solution on the whiteboard and others write solution on worksheet. (Student with white board writes HOT SEAT instead of problem solution on his/her worksheet.)

Y  The last student passes white board forward to student sitting directly in front.
· This student checks the solution and if agrees, passes the white board forward for next student to check and pass forward. This whole procedure takes place in silence.
· If a student disagrees with the solution, the white board is passed back to the original student to make corrections and pass forward again.

Y  When all students have agreed with the solution and passed it all the way to the student in the front of the row, front student holds up white board for teacher to check.
· If correct, teacher gives student with white board the next problem.
· If incorrect, white board is passed back again to last student and process repeats.

Y  All other students on team stand up, move one seat forward and sit down in new seat.

Y  Student with whiteboard and new problem goes to last seat in row and shares problemwith team members.

Y  Repeat problem solving process until teacher decides that time is up.  More able teams will do more problems, and less able teams will do fewer problems. All students will have the opportunity to do and check several problems for practice.

Hot Seat	Name:  	
Student Record Sheet

Directions: Write each problem in the appropriate box. Solve the problem showing all work. If it is your turn to be in the "hot seat" write HOT SEAT in the box and show your work on the white board.

	1.
	2.

	3.
	4.

	5.
	6.



[image: ][image: ][image: ][image: ][image: ]Hot Seat Exercises

Find the slope of the line that passes through the two points.




	1.
	(8, 5)
	(2, 3)

	2.
	(10, –3)
	(–4, 4)

	3.
	(–5, 6)
	(3, 0)

	4.
	(7, –2)
	(7, 5)

	5.
	(–6, –9)
	(0, 3)

	6.
	(–5, 2)
	(5, 2)



Hot Seat Exercises	ANSWER KEY

Find the slope of the line that passes through the two points.

Slope:


1.	(8, 5)	(2, 3)

5 3 
8 2

2 1
6	3





2.	(10, –3)	(–4, 4)

3 4

7 1

10 4	14	2




3.	(–5, 6)	(3, 0)

6 0  
5 3

6  3
8	4





4.	(7, –2)	(7, 5)
· 
2 5 7 undefined

7 7	0




5.	(–6, –9)	(0, 3)

9 3 
6 0

12 2
6





6.	(–5, 2)	(5, 2)

2 2	
5 5

0	0
10

Steppin’ It Up	Name:  	
Slope Homework


Determine the slope of the line that passes through the points given. 1.)	(–5, –8)  (1, 10)	2.)	(7, 6)  (–2, 6)






3.)	(0, 9)  (2, –5)	4.)	(–2, 7)  (0, –5)








5.)	(0, 0)  (5, –6)	6.)	(–2, 5)  (4, –7)








7.)	(–8, 1)  (2, –4)	8.)	(2, 3)  (4, 5)








9.)	(–9, –4)  (–6, 8)	10.)	(1, –4)  (6, 6)

Steppin’ It Up	Name:	ANSWER KEY 	
Slope Homework


Determine the slope of the line that passes through the points given. 1.)	(–5, –8)  (1, 10)	2.)	(7, 6)  (–2, 6)

18 3
6

0 0
9





3.)	(0, 9)  (2, –5)	4.)	(–2, 7)  (0, –5)


14  7
2

12  6
2





5.)	(0, 0)  (5, –6)	6.)	(–2, 5)  (4, –7)


6 5

12 2 6





7.)	(–8, 1)  (2, –4)	8.)	(2, 3)  (4, 5)


5 1

2 1

10	2	2




9.)	(–9, –4)  (–6, 8)	10.)	(1, –4)  (6, 6)


12 4
3

10 2
5

Warm–Up Lesson 3

Determine the slope of the line that passes through the two points given.



	a.)
	(–3, –5)
	(6, 4)

	b.)
	(0, 7)
	(8, 3)



Warm–Up Lesson 3 – ANSWER KEY

Determine the slope of the line that passes through the two points given.

a.)	(–3, –5)	(6, 4)
m 9 1
9
b.)	(0, 7)	(8, 3)

m 4
8

1
2

Scavenger Hunt Activity

Teacher Directions:

1. Print out the following answer/question sheets. Reorder the sheets and tape them up individually on the wall around the room. Make sure the answers are high enough so that they can be seen easily.

2. Copy the student answer sheet and distribute one to each student.

3. Students work by themselves or in pairs.

4. Teacher assigns one of the letters to each student and instructs him/her to start at that answer/question sheet.

5. Student(s) reads the question at the bottom of the sheet and determines the solution.

6. Student(s) looks around the room to find the correct solution on one of the other papers.

7. Student(s) moves over to the sheet with the correct solution and records the letter of that sheet on his/her answer sheet as well as the solution.

8. Student(s) continues until s/he returns to the starting point.

9. Student(s) raises hand and teacher checks the answer sheet. (The letters will be in the same order, although each student/group will start at a different letter in the list.)

Scavenger Hunt Cards

	2


3
	A

	


What is the slope of the line that passes through the points (3, –4)	(1, 8)?
	




	
6
	L

	


Which axis represents the "run" in
"rise over run"?
	




	
x
	G

	What is the slope of the graphed line?
[image: ]
	




	
2
	E

	


This is the type of slope when the line rises going from left to right.
	




	
Positive
	B

	What is the slope of the graphed line?
[image: ]
	




	1


2
	R

	


What is the slope of the line that passes through the points (5, –2)	(1, 14)?
	




	
4
	S

	

Which axis represents the "rise" in
"rise over run"?
	




	y
	M

	


What is the slope of the line that passes through the points (6, –3)	(0, –9)?
	




	
1
	I

	What is the slope of the graphed line?
[image: ]
	




	1
2
	N

	


This is the type of slope when the line goes down from left to right.
	




	
Negative
	K

	


What is the slope of the line that passes through the points (8, 3)	(5, 2)?
	




	1


3
	U

	What is the slope of the graphed line?
[image: ]
	




	
2
	D

	



This is the slope of a horizontal line.
	




	
Zero
	O

	


What is the slope of the line that passes through the points (6, –6)	(1, 9)?
	




	
3
	X

	



This is the slope of a vertical line.
	




	
Undefined
	V

	



This is a number that describes the steepness of a line.
	




	
Slope
	T

	


What is the slope of the line that passes through the points (–8, –4)	(10, 8)?
	



Scavenger Hunt	Name: 	
Student Record Sheet


	
	Letter
	Answer to problem on bottom of sheet

	START:
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	



Scavenger Hunt	Name:	ANSWER KEY 	
Student Record Sheet


	
	Letter
	Answer to problem on bottom of sheet

	START:
	A
	2


3

	
	L
	–6

	
	G
	x

	
	E
	2

	
	B
	positive

	
	R
	1
2

	
	S
	–4

	
	M
	y

	
	I
	1

	
	N
	1
2

	
	K
	negative

	
	U
	1
3

	
	D
	–2

	
	O
	zero

	
	X
	–3

	
	V
	undefined

	
	T
	slope



Slope Application	Name  	


1. A college freshman started the year with $400 in spending money and after three months, she has
$280 left. Assume that she will continue to spend her money at this same rate.

a. Write 2 data points in the form ( month , amount of spending money) .

(	,	)

(	,	)

b. Determine the slope of the line that passes through these two points to find the rate of spending for this college freshman in dollars per month.








2. In 1990, the number of American Bald Eagles was estimated to be 3200 breeding pairs. In 1994, the estimate was 4000. Assume that the number of breeding pairs has increased at a constant rate since 1990.

a. Write 2 data points in the form ( year , number of breeding pairs) .

(	,	)

(	,	)

b. Determine the slope of the line that passes through these two points to find the rate of breeding for American Bald Eagles in number of breeding pairs per year.

X Slope Application  Key	Name  	


1. A college freshman started the year with $400 in spending money and after three months, she has
$280 left. Assume that she will continue to spend her money at this same rate.

a. Write 2 data points in the form ( month , amount of spending money) .

( 0 , 400 )

( 3 , 280 )

b. Determine the slope of the line that passes through these two points to find the rate of spending for this college freshman in dollars per month.


280 400
=
3 0

120


3



= -40








2. In 1990, the number of American Bald Eagles was estimated to be 3200 breeding pairs. In 1994, the estimate was 4000. Assume that the number of breeding pairs has increased at a constant rate since 1990.

a. Write 2 data points in the form ( year , number of breeding pairs) .

( 0 ,3200 )

( 4 ,4000 )

b. Determine the slope of the line that passes through these two points to find the rate of breeding for American Bald Eagles in number of breeding pairs per year.


4000 3200
=
4 0

800


4



= 200

Slope Quiz	Name



Part 1 Definition (7 pts.)
Directions: Complete the sentence with a word or group of words.

1. The slope of a line is determined by taking the number of units rising or
 	 and dividing that by the number of units moving to the
 	 or right.


Slope Using a Multisensory Approach
69

2. The  	

axis is used in determining the rising units where

the	axis determines the run units.

3. Sketch an example of a line that has the slope given:

	a)
	Negative
	b)
	Zero
	c)
	undefined slope

	
	[image: ]
	
	[image: ]
	
	[image: ]



Part 2 Graphs (8 pts.)
[image: [image]][image: [image]]Directions:  Determine the slope given a line on a graph. Show all work. 4.	5.

[image: [image]][image: [image]]6.	7.











Part 3  (15 pts.)
Directions: Compute the slope given two points. Show all work.


8. (6,6 )  (–2, –2)	Slope  	

9. (2, –5 )  (10, –5)	Slope  	










10. ( –3, 5)  ( –3, 10)	Slope  	

11. ( 7,2 ) (–4, –2 )  Slope  	









12. ( –1, 1 )  (5, –7 ) Slope  	









Challenge ( 5 pts.)
Determine the slope.  Show all work.

13. A luggage ramp at the airport is 40 feet long and rises 24 feet. What is the slope of the ramp?

Slope Quiz Key Part 1 Definition1.
falling, left

2.
y , x


3.
negative
Zero
undefined








	
	
	

	Ans. may vary





70

Part 2 Graphs

2
4.	m =3	5. m=


1
6. m =





7. m=0

3	8





Part 3

4
8. slope = 1	9. slope = 0	10. slope = undefined	11. slope =
11


4
12. slope =
3

3
13. slope =
5
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